®

@ Modular

Assembly Technology Floor Elements th 2B {4

5.11-5.61

Base Plate
Base Plate
Leveling Foot
Mounting Plate
Castor Plate
Castor

Base Angle

L Base

Foot and Castor
Components

Leveling Castor

Floor Elements

P.5-11 P.5-14 pP.5-15 P.5-16 p.5-17 P.5-18




®

@ Modular

Assembly Technology Floor Elements 5.11.01
Floor Elements
Base Plate I
To support strut profile at the bottom. Expansion bolts chocked into floor can offer a high stability.
=
[)
Material and surface treatment: cast steel, anti-corrosive @/\< ] %
=
Base Plate Gasket g | 2
o ~ 2
To adjust the degree of vertical profile and uneven ground. - f
©
p=}
40 & é
Base Plate-4080 105 _, | A
o
N
‘ X
. | o s ' (Al
Q p [ ol§ | ° <
@ 40x40 & -
4913
r}( :
of o [Ledle|lo][o % o
= e . il
o B cg’jg F / -
oo © oo L
45x45 45x60 60x60 . P
/] Jany a
P U
Base Plate-4590 -8 c
D E
o] ][] L
) 5% 3%) %@ |_ C ‘ Fastening Set AA‘ Fastening Set AZ ‘ Fastening Set
| ﬁ)‘ Z\:cFIaanlge Nut
:"]O © :DOC] © 3‘.% f.,%[} © = e /100 expansion bolt < g ><Bz\a::;|:::dwaw
M8x25 T Bolt zinc plated
45x45 45x90 90x9 0 é kel pated
- L A B C D E . Mass
Description Fastening Set Part No.
P (mm) | (mm) | (mm) | (mm) | (mm) | (mm) ¢ (¢)
Base Plate-4080 (pc) 2xAZ 1930 5.11.4080
Base Plate-4080 (set A) 4xC+3xAA+2XAZ 2240 5.11.4080.STA
126 | 40 20 60 40 80
Base Plate-4080 (set B) 6xC+3xAA+2xAZ 2290 5.11.4080.STB
Base Plate-4080 (set C) 8XxC+3xAA+2xAZ 2340 5.11.4080.STC
Base Plate-4560 (pc) 2XAZ 1600 5.11.4560
1M1 2251 30 45 60
Base Plate-4560 (set) 4xC+3xAA+2XAZ 1910 5.11.4560.ST
Base Plate-4590 (pc) 2xAZ 2330 5.11.4590
Base Plate-4590 (set A) 4xC+3xAA+2XAZ 2640 5.11.4590.STA
141 | 45 | 225|675 | 45 90
Base Plate-4590 (set B) 6xC+3xAA+2xAZ 2690 5.11.4590.STB
Base Plate-4590 (set C) 8XC+3xAA+2XAZ 2740 5.11.4590.STC
Base Plate Gasket € 9 5.11.01

\Z




®

@ Modular

Assembly Technology

Floor Elements

5.12.01

Floor Elements

Base Plate

To support strut profile mounted on the floor or between the platforms. Expansion bolts chocked into the floor

can offer a high stability.

Material and Color: aluminum, spray coating, sliver

N
Ea
N Room

Base Plate-4080

D5(M6)

100
75

P9

DT ‘ Fastening Set

Description Fastening Set M?gs)s Part No.
Base Plate-4080 (set) 4xDT 975 5.12.40.ST

@ < M6x20 Bolt
zinc plated
M6 Spring Washer
@ < zinc plated
9 1 M8 Pre-set Nut
nickel plated




®

) woau
oqular
L J Floor Elements 5.21-22

Assembly Technology

Floor Elements

Leveling Foot-Pivot Foot

To support structure where gradual height adjustment is needed, the pivot foot has a small

swiveling angle to fit slightly uneven floor. The connection between the pivot base and the 5
spindle can be released with a tool. (%
>
Material and Color: Base-black PA6  Spindle-zinc plated steel Pad-black rubber =
[
(72}
2
ks
3
Pivot Foot 2
I . D KxL | Hmin. | Hmax. | Max. StaticLoad | Mass
L] K Description Part No.
i (mm) | (mm) | (mm) | () N) (o
1
OO 59 M12x90 45 70 4500 152 | 5.21.60.12.90
- M14x130 100 7000 220 | 5.21.60.14.130 {1k
é M12x90 70 188 | 5.21.80.12.90
= - Pivot Foot-PA 6 Base 79 | M12x130 45 100 9000 218 | 5.21.80.12.130
£ M16x130 100 328 | 5.21.80.16.130
M12x130 100 326 | 5.21.100.12.130
on 99 X 45 10000
M16x130 100 436 | 5.21.100.16.130

Leveling Foot-Swivel Foot

To support structure where gradual height adjustment is needed, the swivel foot has a ball joint between the base
and spindle, thus allowing the foot to swivel to an angle up to 30°. It is suitable to be used on the components
moved frequently.

Material and Color: Base-black PA6  Spindle-zinc plated steel Pad-black rubber

Swivel Foot

207 +3
\/i:\o
X Y D KL | Hmin. | H Max. Static Load | Mass
N K / Description X min. - 7 max. ' Part No.
\ / (mm) | (mm) | (mm) | (mm) (N) (9)
\ . :
N 50 | M12x90 | 45 70 4500 162 | 5.22.60.12.90
\ . M12x90 70 198 | 5.22.80.12.90
; Suwivel FookPAG Base | 70 |M12X130| 45 | 00 9000 228 | 5.22.80.12.130
£ M16x130 100 338 | 5.22.80.16.130
=
= M12x130 100 336 | 5.22.100.12.130
99 X 45 10000
M16x130 100 446 | 5.22.100.16.130




®

@ Modular

Assembly Technology Floor Elements 5.23-24

Floor Elements

Leveling Foot-Fixed Foot ¢

Fixed foot have a non-moving connection between base and spindle.

Material and Color; Base Plate-steel, electrophoresis, black  Spindle-zinc plated steel Pad-black rubber

Fixed Foot
Description D KxL H min. | Hmax. | Max. Static Load | Mass Part No.
« (mm) | (mm) | (mm) | (mm) (N) ()
40 M12x70 35 50 4000 124 | 5.23.40.12.70
i M12x7 181 .23.60.12.7

: /| 60 X70 35 50 7000 8 5.23.60 0
- Fixed Foot-Steel Base M14x70 38 50 225 | 5.23.60.14.70
é M12x70 35 50 220 | 5.23.80.12.70
| T 80 M12x110 35 80 9000 240 | 5.23.80.12.110

£

I

M14x70 38 50 283 | 5.23.80.14.70
oD Ad:M14 Fixed Foot should use an end cap with a punched hole

Leveling Foot-Pivot Foo

To support structure where gradual height adjustment is needed, the pivot foot has a small
swiveling angle to fit slightly uneven floor. The connection between the pivot base and the
spindle can be released with a tool.

Material: zinc plated steel/stainless steel

- D KxL H min. |H max. | Max. Static Load | Mass
Pivot Foot Description (mm) [ (mm) | (mm) | (mm) (N) (9) Parto
2/5LJ£ 40 M12x128 45 100 15000 241 | 5.24.40.12.130
‘\ 1 M14x128 45 100 17000 290 | 5.24.40.14.130 {7k
i M12x128 45 100 15000 475 | 5.24.60.12.130
\. ’i K g0 [ M14x128 | 45 | 100 17000 523 | 5.24.60.14.130 {TF
il Pivot Foot-Zinc Plate Steel M16x158 45 120 20000 596 | 5.24.60.16.160
i | M20x178 50 130 25000 796 | 5.24.60.20.180
1 M12x128 45 100 15000 670 | 5.24.80.12.130
é 80 M16x158 45 120 20000 780 | 5.24.80.16.160
E = M20x178 50 130 25000 945 | 5.24.80.20.180
T 40 M12x128 45 100 15000 240 | 5.24.40.12.130.SS
oD M12x128 | 45 100 15000 480 | 5.24.60.12.130.SS
60 M16x158 45 120 20000 600 | 5.24.60.16.160.SS
Pivot Foot-Stainless Steel M20x178 50 130 25000 803 [ 5.24.60.20.180.SS
M12x128 45 100 15000 675 | 5.24.80.12.130.SS
80 M16x158 | 45 120 20000 785 | 5.24.80.16.160.SS
M20x178 50 130 25000 950 | 5.24.80.20.180.SS




®

Cx_j Modular

Assembly Technology Floor Elements

5.25.01

Floor Elements

Cup pivot foot m

To support structure where gradual height adjustment is needed, the pivot foot has a small swiveling angle to fit
slightly uneven floor. The connection between the pivot base and the spindle can be released with a tool.

Material: zinc plated steel

Cup pivot foot

Description

Max. Static Load | Mass

Part No.

5.25.45.12.130

Modular Assembly System

=
i)
7]
>
n
2
©
S
O
®
=
=
(5]
5
=

Stair and Platform System

Tubular Framing System




®

@ Modular

Assembly Technology Floor Elements 5.31.01

Floor Elements

Mounting Plate

To attach leveling foot to strut profile end, but it does
not apply for connecting of castors.

| A ) ~
Material: diecast aluminum . 0 6

Room\)
) Efficiency w W% W % %

PG40-40x40 PG40-40x60 PG40-40x80
PG45-45x45 PG45-45x60 PG45-45x90
PG50-50x50

FC ‘ Fastening Set

ﬁ PRI
zinc plated

M10—M6

Hole Reducer Bolt
nickel plated

- L1 L2 W1 W2 . Mass
Description D o} Fastening Set Part No.
P (om) | (om) | (mm) | (mm) ‘ (9
Mounting Plate-PG40-4040 M12 6.5 40 40 30 30 4x(M6x20) 51 5.31.40.4040
Mounting Plate-PG45-4545 M12 6.5 45 45 33 33 4xFC 97 5.31.45.4545
Mounting Plate-PG50-5050 M12 8.5 50 50 35 35 4x(M8x30) 130 5.31.50.5050
Mounting Plate-PG40-4060 M12 6.5 60 40 50 30 4x(M6x20) 67 5.31.40.4060
Mounting Plate-PG45-4560 M12 6.5 60 45 48 33 4xFC 108 5.31.45.4560
) M12 4x(M6x20) 78 5.31.40.4080.M12
Mounting Plate-PG40-4080 6.5 80 40 70 30
M16 4x(M6x20) 78 5.31.40.4080.M16
. M12 4xFC 131 5.31.45.4590.M12
Mounting Plate-PG45-4590 6.5 90 45 78 88
M16 4xFC 128 5.31.45.4590.M16




®

@ Modular

Assembly Technology Floor Elements 5.32.01

Floor Elements

Mounting Plate

To attach leveling foot or castor to strut profile end.

Material and Color: spray coating steel, sliver

Cleanz

R°0m~> Reliabilty A A A NN
PG40-4040 PG40-4060 PG30-3060 Efdersy  Je Kk kK
PG45-4545 PG45-4560 PG40-4080
PG50-5050 PG45-4590

PG50-50100

=
[}
&
13
>
n
=
o
£
D
173
0
<<
P
&y
=
=
o
=

Fl ‘ Fastening Set FZ‘ Fastening Set
- L1 L2 W1 W2 H . Mass
Description D Fastening Set Part No.
P (mm) (mm) (mm) (mm) (mm) 9 (9)
Mounting Plate-PG40-4040 M12 40 40 30 30 12 4x(M6x20) 128 5.32.40.4040
Mounting Plate-PG45-4545 M12 45 45 33 33 12 4xF| 203 5.32.45.4545
Mounting Plate-PG50-5050 M12 50 50 85 85 12 4x(M8x20) 218 5.32.50.5050
Mounting Plate-PG40-4060 M12 60 40 50 30 12 4x(M6x20) 176 5.32.40.4060
Mounting Plate-PG45-4560 M12 60 45 48 88 12 4xF| 220 5.32.45.4560
Mounting Plate-PG30-3060 M12 60 30 30 23 10 2XFZ 133 5.32.30.3060
: M12 272 5.32.40.4080.M12
Mounting Plate-PG40-4080 80 40 40 30 12 2x(M14x25)
M16 270 5.32.40.4080.M16
) M12 332 5.32.45.4590.M12
Mounting Plate-PG45-4590 90 45 45 33 12 2x(M14x25)
M16 330 5.32.45.4590.M16
M12 332 5.32.50.50100.M12
Mounting Plate-PG50-50100 M16 100 50 50 35 12 2x(M14x25) 329 5.32.50.50100.M16
M20 327 5.32.50.50100.M20




®

@ Modular

Assembly Technology Floor Elements 5.32.02

Floor Elements

Mounting Plate

To attach leveling foot or castor to strut profile end.

Material: spray coating steel, sliver

i
Room\, Reliabilty VB B B A
Efficiency * * * * *

FY‘ Fastening Set Fz ‘ Fastening Set

() g V82080t (&) g V62080t
e pated e s pated

M16—M8 M12—Mé

Hole Reducer Bolt Hole Reducer Bolt
nickel plated nickel plated

- . Mass
Description D (n|;r1n) (nl;iw) (r\;Vr:\) (r\;\ﬁ) (mHm) Fastening Set - Part No.

Mounting Plate-PG30-6060 M2 60 60 30 30 10 AxF7 22 2.92.30 6060 W12
M16 230 5.32.30.6060.M16
M12 534 5.32.40.8080.M12

Mounting Plate-PG40-8080 M16 80 80 40 40 12 4x(M14x25) 532 5.32.40.8080.M16
M20 530 5.32.40.8080.M20
M12 664 5.32.45.9090.M12

Mounting Plate-PG45-9090 M16 90 90 45 45 12 4x(M14x25) 661 5.32.45.9090.M16
M20 659 5.32.45.9090.M20
M12 725 5.32.50.100100.M12

Mounting Plate-PG50-100100 M16 100 100 50 50 12 4x(M14x25) 722 5.32.50.100100.M16
M20 720 5.32.50.100100.M20

Mounting Plate-PG60-6060 M12 60 60 40 40 12 4xFY 330 5.32.60.6060




®

@ Modular

Assembly Technology Floor Elements 5.33.01

Floor Elements

Mounting Plate

To attach leveling foot or castor to strut profile end.

Material and Color: diecast zinc, sliver

Cleanz
j{Room 3 Reliabilty v W W W
Efficiency * * * * *
PG40-4040 PG40-4080 PG40-8080 Cost * % K %
PG45-4545 PG45-4590 PG45-9090

Modular Assembly System

FC ‘ Fastening Set

@) _ mex20 ot
e pated
M10—M6

Hole Reducer Bolt
nickel plated

- L1 L2 w1 W2 H , Mass
Description D Fastening Set Part No.
P mm) | (om) | (o) | (mm) | () ? ©
Mounting Plate-PG40-4040 M12 40 40 30 30 12 4x(M6x20) 17 | 5.33.40.4040
Mounting Plate-PG45-4545 M12 45 45 33 33 12 4xFC 189 | 533454545
_ M12 277 | 5.33.40.4080.M12
Mounting Plate-PG40-4080 80 40 40 12 | 2x(M14x25)
M16 275 | 5.33.40.4080.M16
, M12 344 | 5.33.45.4590.M12
Mounting Plate-PG45-4590 90 45 45 12 2x(M14x25)
M16 342 | 5.33454590.M16
M12 582 | 5.33.40.8080.M12
Mounting Plate-PG40-8080 M16 80 80 40 40 12 | 4x(M14x25) | 580 | 5.3340.8080.M16
M20 577 | 5.33.40.8080.M20
M12 714 | 5.33459090.M12
Mounting Plate-PG45-9090 M16 90 90 45 45 12| 4x(M14x25) | 712 | 5.33.45.9090.M16
M20 709 | 5.33.45.9090.M20

N7
b




®

@ Modular

Assembly Technology

Floor Elements 5.34.01

Floor Elements

Castor Plate

The castor plate is used for attaching profiles to the castor with plate.

Material: zinc plated steel

GJ ‘ Fastening Set

G K ‘ Fastening Set

G I_ ‘ Fastening Set

GM ‘ Fastening Set AM

Fastening Set

G N ‘ Fastening Set

é M8x20 Bolt g M8x25 Bolt e M6x20 Bolt g 4% @ X olf e %
H H H s | | Bt é gt
O = || O || O || L W || @t || O
Description PG H L1 L2 Wi W2 ¢a Fastening Set Mass Part No.
(mm) | (mm) | (mm) | (mm) | (mm) | (mm) )
Castor Plate A-PG30 4XGL+1xGM+4xAM | 1056 | 5.34.30.STA
Castor Plate B-PG30 5xGL+4xAM 1049 | 5.34.30.STB
PG30 10 105 120 30 15 7
Castor Plate C-PG30 AXGL+2xGM+4xAM | 1063 | 5.34.30.STC
Castor Plate D-PG30 2XGL+3xGM+4xAM | 1070 | 5.34.30.STD
Castor Plate A-PG40 4xGJ+1xGN+4xAM 1229 | 5.34.40.STA
Castor Plate B-PG40 5XGJ+4xAM 1222 | 5.34.40.STB
PG40 12 110 130 40 20 9
Castor Plate C-PG40 3xGJ+2xGN+4xAM 1236 | 5.34.40.STC
Castor Plate D-PG40 2XGJ+3XGN+4xAM 1243 | 5.34.40.STD
Castor Plate A-PG45 4XGK+1XCN+4xAM | 1237 | 5.34.45.STA
Castor Plate B-PG45 5xGK+4xAM 1230 | 5.34.45.STB
PG45 12 120 130 45 225 9
Castor Plate C-PG45 AXGK+2XGN+4xAM | 1244 | 5.34.45.STC
Castor Plate D-PG45 2XGK+3xGN+4xAM | 1251 | 5.34.45.STD




®

E Modular

Assembly Technology

Floor Elements

5.34.02

Floor Elements

Castor Plate-Heavy {IE

The castor plate is used for attaching profiles to the castor with plate-Heavy.

Material: zinc plated steel

DO‘ Fastening Set DQ‘ Fastening Set DS‘ Fastening Set DP‘ Fastening Set DR‘ Fastening Set
@ g V62080t @ g 62080t ©) g 825 8ot @ g 82580t
= zinc plated = z’;rvec:\aledw . ? meﬁ Bdg“ zinc plated zll‘r\scsmatedw .
Description PG H L1 L2 Wi W2 Pa Fastening Set Mass Part No.
(mm) | (mm) (mm) (mm) (mm) | (mm) ()
Castor Plate-Heavy A-PG30 4xDO+1xDO+4xDS | 1364 | 5.34.30.H.STA
Castor Plate-Heavy B-PG30 5xDO+4xDS 1356 | 5.34.30.H.STB
PG30 10 120 135 30 15 7
Castor Plate-Heavy C-PG30 3xDO+2xDQ+4xDS | 1372 | 5.34.30.H.STC
Castor Plate-Heavy D-PG30 2xDO+3xDQ+4xDS | 1380 | 5.34.30.H.STD
Castor Plate-Heavy A-PG40 4xDP+1xDR+4xDS | 1834 | 5.34.40.H.STA
Castor Plate-Heavy B-PG40 5xDP+4xDS 1826 | 5.34.40.H.STB
PG40 12 125 145 40 20 9
Castor Plate-Heavy C-PG40 3xDP+2xDR+4xDS 1842 | 5.34.40.H.STC
Castor Plate-Heavy D-PG40 2xDP+3xDR+4xDS 1850 | 5.34.40.H.STD
Castor Plate-Heavy A-PG45 4AXDP+1XDR+4xDS | 1969 | 5.34.45.H.STA
Castor Plate-Heavy B-PG45 5xDP+4xDS 1972 | 5.34.45H.STB
PG45 12 135 145 45 225 9
Castor Plate-Heavy C-PG45 3xDP+2xDR+4xDS | 1977 | 5.34.45H.STC
Castor Plate-Heavy D-PG45 2xDP+3xDR+4xDS | 1985 | 5.34.45H.STD
G
Sl
Q\% /

£
S
[72]
>
w
>
o
£
(5]
[72]
[72]
<
o
S
>
Eel
o
=




)
&

®
Modular

Assembly Technology

Floor Elements

5.35.01

Floor Elements

Castor Plate

The castor plate is used for attaching profiles to the castor with thread.

OD
O

STAR Y]

Material: zinc plated steel

8.2 10.2 10.2
2.2 4.0 6.0

S
¢
&

x|

£ \\
%]

FS  Fasteningset

CQ‘ Fastening Set

Description PG H L1 L2 Fastening Set Mass Part No.

(mm) | (mm) | (mm) ©)
Castor Plate-PG30 PG30 10 30 60 2xFS 162 5.35.30.ST
Castor Plate-PG40 PG40 12 40 80 2xCQ 296 5.35.40.ST
Castor Plate-PG45 PG45 12 45 90 2xCQ 377 5.35.45.ST

When the castor is installed with this castor plate, the profile need be machined with a ©12.5 and 20mm depth hole at the

corresponding position to the thread of the castor.




®

@ Modular

Assembly Technology

Floor Elements

5.41.01

Floor Elements

Castor

Material and Color: Base-carbon steel, plastic powder coated, black
Wheel-polyurethane(Heavy duty - Nylon)

Castor-Thread-Universal Castor-Thread-Brake-Universal

R R

Castor-Plate-Universal-Heavy

M12

oD

Castor-Plate-Universal

R
D

Castor-Plate-Fixed

R

oD

Castor-Plate-Fixed-Heavy

=
[}
&
n
>
n
=
s}
£
[}
173
(72}
<
P
o
=
§=
o
=

oD

Castor-Plate-Brake

- Wheell p | R | H |Load|Mass
Description \(I:II;?T:? (mm)|mm)| mm)| ) | () Part No.
63 | 63 | 104 | 800 | 550 | 5.41.63.M12
Gyl 32 | 75 | 73 | 119 [1050] 670 | 5.41.75.M12
100 [ 87 [ 1421350 790 | 5.41.100.M12
63 | 112 | 104 | 800 | 650 | 5.41.63.M12B
Castor-Thread-Brake 32 | 75 [ 112|119 | 1050 | 770 | 5.41.75.M12B
“Universal 100 | 122 | 142 [1350 | 930 | 5.41.100.M128
63 | 63 | 92 | 800 | 570 | 5.41.63U
Castor-Plate-Universal 32 | 75 | 73 | 107 |1050| 690 | 5.41.75U
100 | 87 | 130 | 1350 870 | 5.41.100U
63 92 | 800 | 370 | 5.41.63F
Castor-Plate-Fixed 32 | 75 107 [ 1050 | 490 | 5.41.75F
100 130 (1350 | 670 | 5.41.100F
63 | 118 | 92 | 800 | 670 | 5.41.63B
Castor-Plate-Brake 32 | 75 | 118 [ 107 | 1050| 790 | 5.41.75B
100 | 127 | 130 | 1350 | 970 | 5.41.100B
Castor-Plate-Universal-Heavy 75 | 65 [ 104 | 6000|1150 | 5.41.75UH
50
Castor-Plate-Fixed-Heavy 75 104 16000 | 950 | 5.41.75FH




®

@ Modular

Assembly Technology Floor Elements 5.51.01

Floor Elements

Base Angle

To improve stability of structure supported by leveling foot.

Material: steel, black electrophoresis

C ‘ Fastening Set AA ‘ Fastening Set
M8 Flange Nut
. ¢ zinc plated
Description Fastening Set M(as;s Part No.
9
Base Angle-Left (pc) 346 551.L
Base Angle-Left (set) 2xC+1xAA 473 5.51.L.ST
Base Angle-Right (pc) 346 551.R
Base Angle-Right (set) 2xC+1xAA 473 551.R.ST
Base Angle-L+R (pair) 692 B JP
Base Angle-L+R (set) 4XCH2xAA 946 551.PST




®

Cx_j Modular

Assembly Technology Floor Elements 5.52.01

Floor Elements

LBase {TIE

L base is to fix the profile on the floor and adjust the height of the profile to the floor.

Material: diecast aluminum, black electrophoresis

6.2 8.2 10.2 10.2
2.0 2.2 4.0 6.0

=
[}
&
n
>
n
=
s}
£
[}
[72]
(72}
<
P
o
>
el
o
=

) 5
] 3
>
1 0 n
o
pel
=
< 5
A >
O
(]
=
g 3 S
- <
=
(=3
S
~
(=3
=]
Dl ‘ Fastening Set DM‘ Fastening Set D N ‘ Fastening Set

4 M8x16 Bolt 1 M8x20 Bolt
zinc plated zinc plated
M8 Spring Washer M8 Spring Washer < M10x120 expansion bolt
° . zinc plated ° . zinc plated 'zinc plated

15 M8 Pre-set Nut M8 Pre-set Nut
nickel plated nickel plated

Mass

(9)

Description Fastening Set Part No.

2xDI+1xDN

Stair and Platform System

L Base-PG40 (set) 5.52.10.04.ST

Tubular Framing System




®

@ Modular

Assembly Technology Floor Elements 5.61.01

Floor Elements ) —

10.2 10.2
4.0 6.0
Light Wheel-polyurethane Foot-steel, black electrophoresis
9% 355
20
37 7
M12 ~—=0
] e
25
20| R45
| @
L& o
szl | odksy
@ © . <Q \\\\-—1////{3 -
ARl 27 IRE
©| ©o @ 4:3 % 5 8
66705 68705 AF‘ Fastening Set AG‘ Fastening Set J ‘ Fastening Set W‘ Fastening Set
165 P Wr e 4%3“’6% o lx:ﬁ:gjmsner o .L\/‘I:CS;;;%Washer
% < - 0l2 Retucer Bolt % PRCLEL \:ecean\t @ ‘chZNuat«e @ ‘mg';Nu;‘e
Heavy Wheel-PA Foot-zinc plated steel S o e
% 275 Description Fastening Set Load Mass Part No.
- N | @
3900 | 5.61.L
ol & 3 . 4xJ 3950 | 5.61.40.L.STA
c{ B 75 Light Weight 3xJ+HIXAF 1050 3950 | 5.61.40.L.STB
a1 3950 | 5.61.45.L.STA
FroITIN\ M2
"060 _" 3XW+1xAG 3950 | 5.61.45.L.STB
4600 | 5.61.H
225
0 pes 4xJ 4650 | 5.61.40.H.STA
1 : Sy Heavy Weight 3xJ+IXAF 6000 | 4650 | 5.61.40.H.STB
4 D
& 2 4xW 4650 | 56145H.STA
8 = G (g IXW+1XAG 4650 | 5.61.45.H.STB
g 5| & ﬁ‘i\\_/\é//? ol
o 2 ’\x/ \?// e
25 @ ore
675 || 675
60 80
165




®

@ Modular

Assembly Technology

Floor Elements

5.62.01

Floor Elements

Leveling Castor {{EE

Material: Base-Carbon steel, Case-Aluminum, Wheel-Nylon 6

=
[}
&
n
>
n
=
s}
£
[}
173
(72}
<
P
o
=
§=
o
=

Wheel
Description Width D R H A B a Load | Mass Part No.
(mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (N) | (kg)
25 50 61 85 74 57 72 | 2500 | 0.77 | 5.62.50
Leveling Castor 30 61 775 | 105 | 90 70 9 5000 | 1.25 | 5.62.61
33 75 | 895 | 118 | 95 70 11 | 10000 | 1.65 | 5.62.75




